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General Instructions :

(i)

The question paper comprises two sections, A and B. You are to

attempt both the sections.

(ii) All questions are compulsory.

(iii)

There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to

v)

(vi)

(vii)

(viii)

(ix)

31/1/3

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in

brief.
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HqOT-A
SECTION-A

1. 39 GaTE it < T8cl & Gel o TU-g3 ol fSeeRt st
Tge —OH ® |

Write the molecular formula of first two members of homologous

series having functional group —OH.

2.  wicHlfegH forE YRR ST hEdl © ¢ Ig fafer wifirer @ s1eren s1afier ?

How does Plasmodium reproduce. Is this method sexual or

asexual ?

3. 3fiel ol UTepfeh UTiLT It WA STt @ 7

Why is a lake considered to be a natural ecosystem ?

4. I3 o7 30 cm Thal BISAT % Fadd U % WA 12 cm T W T@
3 | U gRT o1 fferer o =R SAfirereron it e T9mET |

An object i1s placed at a distance of 12 cm in front of a concave
mirror of radius of curvature 30 cm. List four characteristics of the

image formed by the mirror.

31/1/3 4
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5. 9 JAY o LA I IH T TG TR T YTehfcreh Twmei & 3red &
o, fohe TR, dEeiicis g € fohu S aTel AR GHTeE! &

Yo h i g i 8 7 2

How do advantages of exploiting natural resources with short term
gains in mind differ from the advantages of managing our

resources with a long-term perspective ?

6. T Sfe € =1 qTed © ¢ I8 TN Tl Heaqul i 7 7 2

What is meant by wildlife ? How is it important for us ?

7. < fow ) T R R 3

(1) C2H5OH+02 —>

.. HTE{HZSO4 .
(1) C,HsOH V) G

(iii) CH3COOH +NaHCO3; ——>

Complete the following chemical equations :

(1) C2H50H+02 —>

Conc.HySO4
443K ”

(i) C,HsOH

(iii) CH3COOH +NaHCO3; ——>
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8. & e AR o 319 G C4Hg 3R C3Hg 2 | 370 @ Thm Nfies 1
Gehed Tffshar quria <t S1fersk damaT &1 derd) 8 7 319 I T gfE
HINT | 3 T § Hehod TR i Uik hl samen & fog
e et off dfT |

The molecular formula of two carbon compounds are C4Hg and
CsHg. Which one of the two is most likely to show addition

reaction ? Justify your answer. Also give the chemical equation to

explain the process of addition reaction in this case.

9. ST Tad AR o Hed Tardi IR qifast e & T ol | foreh
Fed TP § W H i W R @l o difedeh ANTAI0 | 1 IiEad
T 2 7 foreht &foe uft o ot ot @ SR o1k S W sy e &
e § AT GRS BT & ¢ SUH ST ST ok I o9& H hiul

N |

Write the names given to the vertical columns and horizontal

rows in the Modern Periodic Table. How does the metallic
character of elements vary on moving down a vertical column ?
How does the size of atomic radius vary on moving left to right in a
horizontal row ? Give reason in support of your answer in the

above two cases.

31/1/3 6
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10. &5 dcd P (T G&1 20) Fret 311 @ Q (WwTo] €& 17) 9

Afufsra oeh s Afies s=mar ® | 9 feu e ge i o1 shwor afgd SW@
difsu

e oT1ad Arvft § P 3R Q it fedrfom, qem P ot Q st stfufsman

SR & ATk o1 0] - TR | 3

An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

11. 9Sd % SAM 98 fohe YehR 3xTid & Top forfy @iero waas &9 & aemga
Id & 7 S i | 3

How did Mendel’s experiments show that different traits are

inherited independently ? Explain.

12. Tt Seewr i gerar 8 =aren shifsie for f=feilaa § 9 e fora

SeRT Sfiall o TofehTel o &1 H JHT0T SEqd ol @ - 3

(a) TESTA T

(b) TEEY (THgh) 7

(c) SiaTeH
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Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs
(b) Analogous organs

(c) Fossils

13. 1 BT 8, i -
(a) TATT T PG TI7H7 3 AT H e AT ?
(b) FrEfEerm i uxh ieft gar | iR St 2 2
(c) UNUS BIRL 737177 ht SSTTUEn1 (TIRISFT) e SATeft & 7

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(¢) On maturation sporangia of Rhizopus bursts ?

14. <ifieh S # afeford foredl o) =on oAt F= SH15T 3R 39 31 amv
fafaw |

List any four steps involved in sexual reproduction and write its

two advantages.

15. TR § 8 a1l IHEdHT ol 3g@ shifsTg, Sid -
(a) o1 T (STRIfUT) & ST 2 |
(b) W& I / AU I Fv=r el =a |

31/1/3 8
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State the changes that take place in the uterus when :
(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

16. Torelt gUor @ 30 cm T W fedra wigerdt it Saren @1 gfafers gdor &
T 3G g9 8 60 cm T T T UG 9 ST 2 | gUT Y TR R ?
FHeh! Bkl gl TG hilT | AR SaTeT H 915 2.4 cm &, A 39
yfafensr <t S=m8 31a Fifvw | sgw Sifse fr o= sfafsms dier 2m

YT 3edT | 3

The 1mage of a candle flame placed at a distance of 30 cm from a
mirror 1s formed on a screen placed in front of the mirror at a
distance of 60 cm from its pole. What is the nature of the mirror ?
Find its focal length. If the height of the flame is 2.4 cm, find the
height of its image. State whether the image formed is erect or

inverted.

17. |G 93 Sl gusH &Har & fawg # fafew | e hifse fr s er 9
¥ foredt a%q 1 gt 1 ufafda s 3a &, @ 97 @ wfdfors i gt ufafda
w1 T8l Bl ¢ 3
Write about power of accommodation of human eye. Explain why

the image distance in the eye does not change when we change the

distance of an object from the eye ?
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18.

19.

20.

IRl “gtaRyr fam’ W fommerd it uTdshiefie |9 § SIS wa 3T

3T TXer fawe o siiet o fore g e 2 |

(a) TATSLOT o TS o ToTC SIS UXd shl GRaqT 1 shi ST AT 7

(b) & TRl <1 Ut it gt ST oo forwr o sretgdeh e e
AT AU Tl H STEshdl 3cad AT R S qFTawr & qg-A1Y
IS T o T § off TEreh g |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

Hed o YA gR1 I8 fohd TR T B3 foh

(a) A&7 TS AT 7T B & 7
(b) 1 ALUN T ST THT Teh-gE § T B & 7

How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) inheritance of two traits is independent of each other ?

(a) HHE T o 39 3 1 A9 TARGT ST IEh1opsti o i & drer-any
T BIHM 1 GGt AT © | $Eh SR GIoId S o1 AW 3R
1 foafen |

(b) HHE HIET ST @ % 39 91 skt AT forflaw stef e Srar ? |

31/1/3 10
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(©)

(a)

(b)

(c)

21. (a)

(b)

(©)
(a)
(b)

(©)

22. (a)

31/1/3

T ST fof AT o IR o e’ foskfira grd o1 o1 g forg
TR B & | 5

Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

Name the parts of the human female reproductive system where
fertilisation occurs.
Explain how the developing embryo gets nourishment inside the

mother’s body.

forare T hivT <A1 ST foRtoT 3T Wi=reRt shifsTu |

foret @ & fsm @ o W eAafad vod yehrer o SFaet gl
TFH o &Y T {97k 3401 81 1 8, Saredn hifsia ?
$-REIY ST ST ATHIToRd fohTuT TRE e 3IITST | 5

Draw a ray diagram to explain the term angle of deviation.

Why do the component colours of incident white light split into
a spectrum while passing through a glass prism, explain ?

Draw a labelled ray diagram to show the formation of a

rainbow.

TRTST foRToT ST ST o1 Rd W W U @1 foROn Rt g g,
et gdur @ qrerd o ageETd it foem ST R T g © | Ut
1 ToRTuTt <t =it SMTST TR STade SUUT o TRl H TXIadH o 991q
3 ToRon o vl o1 3g@ T | 3= ST foRont bt 3w, Stade
TUUT o gd TR Bk < siia fedra foret forear o wifaferar <t feurfa,

TRt ToRTT 3T W=IeRt FTd i | shITTT |
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(b) WIS FFAA TUUT I WA 20 cm T W feua foreft forray =1
T STTET Sidfers 98 9 SETa § | el forre | fohat @i g ?

(a) To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

(b) A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

23. 30 @ o TR H T g (u) ok WY Siafers g (v) B o= &
ST et i & TRt Serur arfereRt st farwerr hifse 3T uftehets fog
fort € FRfariaa wei & 3w difsre

e u (cm) v (cm)
1 -90 + 18
2 - 60 + 20
3 -30 + 30
4 -20 + 60
5 - 18 +90
6 -10 + 100

31/1/3 12
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(a) 3T ¥ hl BIohd T AT 7 3T W o U&T H R0 ST |
(b) 3T Y& it A T fafge st ot 7€ 7 | 98 fswd sae ferm

TR femTet ?

(c) =g oft 3faa YU TR Y&V T 4 o fIU yeRT fRr sT@

Hiferu R STraea o1 A /9 31 shife |

Analyse the following observation table showing variation of

image distance (v) with object distance (u) in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S.No. | Object distance Image distance

u (cm) v (cm)

1 -90 + 18

2 - 60 + 20

3 -30 + 30

4 -20 +60

5 - 18 +90

6 -10 + 100

31/1/3 13
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(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

24, G IR JUATSIR SHI & AU ok THR & | T aE1 H IR I |
T h! RIS SisRaT <t ToRan oty fafRau | a1 ek i o @19 m

FAT el S ¢ AT oh T T TSIl T ITAN i o HROT 30

B Tt feheal 21 THET3AT h1 3@ hifaTu |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

31/1/3 14
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HOT-d
SECTION-B

25. = feu U @ H ATIad v, Eid hiT, 3T9edd hivT qT UTfydes
foreemu= &l &Tahl 1, 2, 3, 3T 4 ST TR A | TohE TR ST TR B 7 1

(@ 2,4,1,3

(b) 2,1,4,3

(© 1,2,4,3
(d 2,1,3,4

The correct sequencing of angle of incidence, angle of emergence,
angle of refraction and lateral displacement shown in the following

diagram by digits 1, 2, 3 and 4 is :

(a) 2,4,1,3 O

(b) 2,1,4,3

() 1,2,4,3

(d 2,1,3,4

31/1/3 15 [P.T.O.
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26. = feu 7w M@ ° w& 3ifeRa v R -

(a) LASR Le

(b) Li,ZAIR £D
() LA, ZLr3R Le
(d LA, Zr3R £D

In the following diagram the correctly marked angles are :

(a) LAandZLe
(b) Li,ZAand LD
(c) LA, ZLrand Le

(d) LA, Zrand ZD

31/1/3 16
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27. A A Iad oiF g et gy o, o
yfafers sl 96 9 wikfYd L B,

dl 9a W 39 foresr o Wfciforest <t e1epfa 2t -

(a)

1

1

(b)

(©)

(d)

AT, 5

If you focus the image of a distant object, whose shape is given

below, on a screen using a convex lens,

the shape of the image of this object on the screen would be :

(a)

31/1/3

1

(b)

(©)

17
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28. @ BET A, B 3R C 7 forelt g saq A1 s1aaet guur Y TeRIdT ¥ g
T B TR | STaaa gdur it Wik gl et @ & fore 3=
frefaRaa it amd
B A : T & TS T ol gl
B B : Wad ¥ U< s hl gl
B C : W ° Y01 ek ol g
e Bkl U A I1a1 /9T B /7 -

(a) HaA A
(b) FHIAB
(c) AIRB

(d) B3R C

Three students A, B and C focussed a distant building on a screen
with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) Band C

31/1/3 18


https://amzn.to/3OFHQkO

29. TR H reHieRr i stfufsran @ guria / fefifa #e & fore 9
TR &R o1 =t fo T SlF |1 wisH ged 31fére 3ugh @ ? 1

(a) Gl HT A TR HicaaH eEgFaTES
(b) TUE 1 d N Ffcdan TESIFaTES
(c) AU &1t TR Hifea eEgiaaTss
(d) BT 1 oA R Aifead eEgidarss

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most

suitable ?

(a) Mustard oil and calcium hydroxide
(b) Castor oil and calcium hydroxide
(c) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

30. 379 9 IR WEA, A, B, C 3R D H FHA: HileIH FHEHe,
qifead FANEs, I 1 9HT 3R it fofend o1 faeea g1 38 °
forg / fort TrEafert o gered w1 39 wHifesw /| wdHtes 3 o o
Tliequr & foTT AT IUgR & 7 1
(a) Had A
(b) AN B

(c) B3 C
(d) A D

31/1/3 19 [P.T.O.


https://amzn.to/3OFHQkO

31.

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?

(a) only A

(b) AandB
(c) BandC
(d) Aand D

fortt ® 3 TR @At P, Q, R 3R S & 3R Ycdsh | AT 8 mL

A ST W | qeavaTd 38+ el P H NaySO4, QH K,SO4, RH

CaSO,, S MgS0, @l 99 UE Hicll | Toish Te-el | A1
Toreaa ht gu 9 TRt 3T 38 vet-Janr foefifed s+ w3a o
WA § 9ITH W § ST AT &, 98 e |

(a) P3MW Q
(b) PSR R
(c) P,Q3R S
(d) Q,R3M S

31/1/3 20
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A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SO4 in P, K,SO4 in Q, CaSO4 in R and MgSOy in S. On
adding an equal amount of soap solution and shaking each test tube
well, a good amount of lather will be obtained in the test tubes :

(@) Pand Q

(b) PandR

(c) P,QandS

(d) Q,RandS

32. T=fcfiad # € qwsiTd 37T o Gq= sl gHU:

(a) e 3R foaeht o 7@
(b) THEE TR FHed & TE@

(c) T, s 3R fSuehedt o 3mTE

(d) faaeht 3R =wmes & 9@

Select the set of homologous organs from the following :
(a) Wings of pigeon and a butterfly

(b) Wings of bat and a pigeon

(c) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/3 21
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33. = o SIS % YT 1 S&0 Rd 90 Torell B 9 = feT 18R g o

SSTTeRuT, SSUEER, SiSTus, SF=d:shdl, T, JATFH |
T4 T I @R Wiereh wRied 4 g fewquft i, for 31 @ e fF 9w
HE R KER R PRSIl

(a) dierae, sfSTrereT, T

(b) SIS, T, HATF

(c) ST, 37d:had, AT

(d) i, SSTUesR, g

A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(c) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

31/1/3 22
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34. 3T IR S % TR k1 AW faige Sad we SHe iy 9
Hald hIfreRsTi a1 HHio Ba1 § 3T SiHeh hifRTehT o1 AfEdca AT &

ST 2 | 39 9UH =0T 1 3@ hifSTT Sred 39 Teh o ST shl 3T

TId1 2 | 39 SH % I8 a1 <RUI o 3TRE Wif=re | 2

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

35. @Ig BF 10 cm HIhd g4 1 3T <iF <ioht HIFe] hl SaTal i o F 9
T 60 cm T T TEAT 3R SATAT o el i 98 T BIkad
AT B | 3 UYETd 98 ATl sl efR-¢R g it 3T Teeprar S ®
3R & AR ffersr ot u¢ W bt off e 2 | 2

(a) aTel o fdfers sl Wi s o fTT a8 g ol fohm 3TR Sehran
- T Y AR AU T T R 7

(b) widfersr o d1gst A 1 UiEd gran g ?

(c) SATAl ! &g o fere o W gfdfers it digar ® = afgds gran
g7

(d) <9 & T fohaft T TR ST hl T T 3THT TUH HISS 1 el
yfcfers SATaT R 7
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A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

36. 1 A TRl wWEAe! § Aifeaq gEgeH HEHe 1 UIeel el 39d
UHIfe T STeTd ©, A1 L & il JaeaTac o |1 hig 19 fehatdt ¢ |
39 719 o1 W TR 37X 38 qiEn 1 9 IS ST 39 19 3l 9gaH
H Y FT R |

A gas 1s liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.
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